Галкина Наталья Петровна, учитель математики

МОУ СОШ № 38, г. Комсомольск-на-Амуре

Идентификатор: 232-000-002

Конкурс 3

Команда 1

	Команда № 1

	№
	точки

	1
	(__; 1)

	2
	(__; 0)

	Команда № 1

	№
	точки

	1
	(__; 1)

	2
	(__; 0)

	Команда № 1

	№
	точки

	1
	(__; 1)

	2
	(__; 0)

	Команда № 1

	№
	точки

	1
	(__; 1)

	2
	(__; 0)


	Уравнение 
	Точка 

	1) -2х+16=5х-19
	(х; 1)

	2) 8х-25=3х+20
	(х; 0)

	Уравнение 
	Точка 

	3) 6-а=3(3а-8)
	(5; а)

	4) 5(у+1,2)=7у+4
	(1; у)

	Уравнение 
	Точка 

	5) 4(х-3)-16=5(х-5)
	(х; 3)

	6) 3х-17=8х+18
	(х; 0)

	Уравнение 
	Точка 

	7) 11-5у=12-6у
	(-3; у)

	8) 4у+(11,8-у)=3,8-5у
	(1; у)


Команда 2

	Команда № 2

	№
	точки

	3
	(5; __)

	4
	(1; __)

	Команда № 2

	№
	точки

	3
	(5; __)

	4
	(1; __)

	Команда № 2

	№
	точки

	3
	(5; __)

	4
	(1; __)

	Команда № 2

	№
	точки

	3
	(5; __)

	4
	(1; __)


	Уравнение 
	Точка 

	1) -2х+16=5х-19
	(х; 1)

	2) 8х-25=3х+20
	(х; 0)

	Уравнение 
	Точка 

	3) 6-а=3(3а-8)
	(5; а)

	4) 5(у+1,2)=7у+4
	(1; у)

	Уравнение 
	Точка 

	5) 4(х-3)-16=5(х-5)
	(х; 3)

	6) 3х-17=8х+18
	(х; 0)

	Уравнение 
	Точка 

	7) 11-5у=12-6у
	(-3; у)

	8) 4у+(11,8-у)=3,8-5у
	(1; у)


Команда 3

	Команда № 3

	№
	точки

	5
	(__; 3)

	6
	(__; 0)

	Команда № 3

	№
	точки

	5
	(__; 3)

	6
	(__; 0)

	Команда № 3

	№
	точки

	5
	(__; 3)

	6
	(__; 0)

	Команда № 3

	№
	точки

	5
	(__; 3)

	6
	(__; 0)


	Уравнение 
	Точка 

	1) -2х+16=5х-19
	(х; 1)

	2) 8х-25=3х+20
	(х; 0)

	Уравнение 
	Точка 

	3) 6-а=3(3а-8)
	(5; а)

	4) 5(у+1,2)=7у+4
	(1; у)

	Уравнение 
	Точка 

	5) 4(х-3)-16=5(х-5)
	(х; 3)

	6) 3х-17=8х+18
	(х; 0)

	Уравнение 
	Точка 

	7) 11-5у=12-6у
	(-3; у)

	8) 4у+(11,8-у)=3,8-5у
	(1; у)


	Команда № 4

	№
	точки

	7
	(-3; __)

	8
	(1; __)

	Команда № 4

	№
	точки

	7
	(-3; __)

	8
	(1; __)

	Команда № 4

	№
	точки

	7
	(-3; __)

	8
	(1; __)

	Команда № 4

	№
	точки

	7
	(-3; __)

	8
	(1; __)


	Уравнение 
	Точка 

	1) -2х+16=5х-19
	(х; 1)

	2) 8х-25=3х+20
	(х; 0)

	Уравнение 
	Точка 

	3) 6-а=3(3а-8)
	(5; а)

	4) 5(у+1,2)=7у+4
	(1; у)

	Уравнение 
	Точка 

	5) 4(х-3)-16=5(х-5)
	(х; 3)

	6) 3х-17=8х+18
	(х; 0)

	Уравнение 
	Точка 

	7) 11-5у=12-6у
	(-3; у)

	8) 4у+(11,8-у)=3,8-5у
	(1; у)


Команда 4

